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cos Q=(5.3)4(3.2)=~ (6. 1)
2.(53)3.2)
cosO = “_33 M - |1O. ?L}_":;Sj 2. ]
37 T1.1 2.
cosQ= & &1
377.12,

cos®©= O.17197]

O = cos™'(0.1719 7)

Q = 80O°
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@ SinX. =Sin72°
12m — qQ |9
2sinX= 9sinT2°
2 | 2
A. (629 C. 52° SinX= 0O.7133
B. 56° D. 46 X = sin~t (07133)
X = NMG°
G =180=-"12°-M¢°
G=62°
! ©= 120% T4 =74
O=32°
2.4 km
A. 16° C. 60°

. - 7 D. 74°
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Determine the indicated side length, to the nearest tenth,

= 7

X o= I3 X (13) 4+ (14)= 20314) cos 29
SN+l Sm@% X=1E+196-364(0.8746)

ASINER =23 snH4 T xX=3¢3 -318-3344
QT SING8  X*=MNG.64356

“:Iglmm xzfi:‘%rﬁ

(A)18.1 mm C. 23.5mm A. 19m C. 26.1 m
B. 18.6mm D. 29.2 mm 68m  D. 46.6m
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2= (3.1 (8. D 2(S.1)E. Neos 69°
X*= 6.0l +20.01-52.02(0.3534)
69" Yr*=5202 —138.64
D X*= 33.38
A =53cm

5.1cm

A. 7.4 cm C. 4.8cm

5.8 cm D. 4.7 cm

7. Simon knows lengths 2 and ¢ in AABC. He also knows one of the ang]es,
and this gives him enough information to use the cosine law to determine &.

Which angle could be the one Simon knows? b*= a*+c*~2Lac cos [2
A LA LB L A6 D. any of these
8. Which of the following ratios is the same for each side-angle pair in

a triangle?
sin A d
A. P B. oy @ both D. neither
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9. You are given three pieces of information about the measures of the angles

10.

and sides in a triangle. In which of the following situations can the
sine law NOT be used to solve the triangle?

A. S5A4 SAS C. ASA D. AAS
ngo-FCpsimcs

In AXYZ, x = 4.3 cm, y = 3.1 cm, and z = 5.9 cm. Which is the largest angle,

and is it obtuse?

A LYiyess (B)LZyes C. /Zno D. /Yino

l\grgcsﬁ' Angle =2 4. (across from larges+ Side)

CoS L= X ?":t..yf:;éa

2. XN

CosZ=43)*+(3.1)=-(859)*

2(4.3)3.1)

CosZ7= 18N+ 9.62,—~34.8|

V6.

CQSZ:’ t@j__

V6 - 6o

Cos{= —0.2313

z = Ccos'-0.2513)
Z. = 105° (Obtuse)
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11. Given the information shown, in which situation are two triangles

possible?
A ZAobtuse, h<<b<a @Mamtejé{gﬂiﬁ :
. i
h=b A
B. ZAacute,a << h<<éb D. £ A obtuse, a > b o i
I
|

12. Which set of measurements results in no possible triangles?
obtuse P<q,
A LP=25p=35mg=62m (C)LP=135p=38m7=40m

B. ZP=96"p=52m,¢g=50m D, /P=48°p=74mg=7.1m
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13. The cosine law does not have an ambiguous case. Why not?
A. The cosine law does not apply to obtuse triangles.
ThE cosine of an obtuse angle is always negative.
C. The principal value of a square root is always positive.
D. The cosine law cannot be used if the unknown angle is obtusc.

18. Solve APQR. Round lengths to the nearest tenth of a centimetre and angles to
the nearest degree.

?:ﬂ-i"_ﬂm r=2.4 cm LR=330° Q

4.7 cm

M. b r =47 <R=I180%¢1=83°
SINGT SIin83 - SIinAdO° Sin3d3° = JO°
0 83°=4SInG] rSind3*=41sin3¢
PR O SINVI3° S B3°  SinB3°
Q= Y NMem r =d.Mem
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19. Solve AUVW. Round angles to the nearest degree and lengths to the nearest

tenth of a metre. X

LU=Yg° LV=60° w=p,7 m 52m
CosU=(L)+6N(52)° W= 5.2+ (61> 25.2)(6.)cos 2" "

2 (6.1)(61) W2=J704 +37.21- 63.84 (03090 ¥ .
CcosU=3T.21+44.89-210N W*=¢E4.25-19.6030
3.4 WE= NN 6NT
cosU= 355.06 W= 6. Tm
A O | |

cosU= 0.¢136 <V=\30-"12°-M48"

U= Cos™(0.6136)
rU'_—'- . f\_{%o
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20. Ricardo is landscaping parc of a garden in the shape of an acure triangle. He E,H-tmh .
wants the sides of the triangle to be 13 m, 17 m, and 19 m long. Determine,

to the nearest degree, ‘*Mﬁ

a) the measure of the smallest angle in Ricardo's wriangle: 442, ° <

b) the measure of the largest angle in Ricardo’s triangle: 7] ° ‘ i\
M~

a)Smallest Angle is opposite Smallest side

cos @ =(UN*+Q)-(13)

2.0109Q)
Cos®=289+361-169
MG
Cos Q= 4R\
MG

Cos@= Q.44 G
Q= cos ' (0. 7446)
Q= M2°

b) l\gxrgaa-\“ ingle (s opposite To largest Swdes

cos X =AY+ Q1) *>(9)*
2.(13)U7)
CosX= [694+089-3&!
SENPE
cosX= 0.5195
X = cos™ (0.9195)
X="177"°
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26. The base of a cliff, 4, is surveyed from rwo different points, Cand D, ar the
same horizonral level. The elevation of the top of the cliff, B, is taken from C.

a) What is the heighr of the cliff, ro the nearest metre?
< CAD= 180-587-4%"
< CAD="5"
a4 =441
SinsT Sin1s’
d sin3°= 1N SInST
SieFs® Sin15°
d=]23m C = 128
SN2 Sind&°
< B=180-6-90°  CSind8° = 198 Sin62’
<@B=28° Siero8’ SInd8®
o C = J4YOm
The cliffis OMOmM h{gh,

b) To the nearest degree, what is the elevation of the cliff taken from D?

X = 1] Tan ® = app
S48’ Sin7Ts°® ﬂdj
LS5 =I4TSinHR" tan®= HU0
Sin 13 Sin3° 13
xX=13m Tan® = 9.1939
Q= +an™ (.1939)
B= 5"

The elevation of the clif€
taKen from D s 63"
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